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Sociological perspective involves a
process of ‘seeing through’ — who

said ?

(A) Peter Berger
(B) Auguste Comte
(C) C. Wright Mills
(D) Karl Marx

The principle of natural selection

was first applied in sociology by :
(A) Herbert Spencer

(B) Radcliffe Brown

(C) Von Wiese

(D) F. Tonnies

The book ‘The Theory of Social

Structure’ is authored by :
(A) Levi-Strauss

(B) A.R. Radecliffe Brown
(C) S.F. Nadel

(D) B. Malinowski
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Which among these two creates a

situation for role conflict ?

(A) Conflict within a single role
(B) Conflict between roles

(C) Both (A) and (B)

(D) None of the above

Who has classified status into

“ascribed” and “achieved” ?
(A) Robert Bierstedt

(B) Ralph Linton

(C) H.M. Johnson

(D) R.M. Mac Iver

“Primary Groups are the nurseries
of human nature.” This is stated

by :

(A) H.M. Johnson
(B) Herbert Spencer
(C) George Simmel

(D) C.H. Cooley
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7. Who h i the ‘id f
g -nas given = ARS8, 8 10. Radcliffe Brown’s first ethnographic

consciousness’ of kind ?
study was on the :
(A) H.M. Johnson
(B) R.M. Mac Iver (A) Nicobar Islands

(C) F.H. Giddings
(B) Andaman Islands

(D) None of the above

8. The concept of the ‘Marginal Man’ (&) Pac1ﬁ§ Islands

is developed by :
P (D) Jersey Islands

(X) Hobert Rudficid

11. ‘Rurbanism’ is the term that is
(B) Robert Park

(C) Robert Merton | related to the study of :

(D) Erwin Goffman
(A) Villages

9. Book ‘Anatomy of Rural-Urban

Community’ is written by : (B) Town and Cities

(A) M.S.A. Rao (C) Rural Areas

(B) G.S. Ghurye

(D) Lifestyle of rural-urban
(C) Patrick Geddess

(D) AM. Shah - - people
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12. Which are/is the possible ways to | 14. The statement ‘religion is heart of

settle the industrial disputes the heartless’ is attributed to :

between employers and workers by (A) Karl Marx

the outsiders ? (B) Emile Durkheim

(I) Conciliation (C) Radcliffe Brown

(IT) Compromise (D) Max Weber

15. The term social structure refers to
(IIT) Adjudication

“an ordered arrangement” of parts

(IV) Arbitration as viewed by :

A) I, III, IV (A) S.F. Nadel
(B) IV only (B) Levi-Strauss
(C) R. Lowie

(C) III only

D) R.K. Mert
(D) II, III and IV D) erton

16. Who is the author of ‘Delinquent
13. Religion is :
Boys’ ?

(A) Religious Belief
(A) F. Whyte

(B) Religious Practices (B) K.S. Shukla

(C) All of these (C) M. Clinard

(D) Rituals (D) A.K. Cohen

TBC : AKG-AP(CC)SOC.-2018 6
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17. Who has given the concept of

18.

19.

Functional Alternatives’ ?
(A) Talcott Parsons

(B) Robert K. Merton

(C) Albert Cohen

(D) Emile Durkheim
‘deviance’

Who regards as a

functional for society ?
(A) Albert Cohen

(B) Robert K. Merton
(C) Emile Durkheim
(D) Radcliffe Brown

Which of the following concepts
does not figure in Malthusian theory

of population ?

(A) Arithmetic progreséion
(B) Positive checks

(C) Stable population

(D) Preventive checks

TBC : AKG-AP(CC)SOC.-2018

20. ‘Population Pyramids’ reveals the

21.

following information :

() Dependency burden

(@) Birth and death rate

(ii1) Sex-ratio of different ages

(iv) Approximate life expectancy of
birth.

From the above find the combination

of correct answer :

(A) () and (i) but not (iii) and (iv)
(B) All (@), (&), (iii) and (iv)

(C) (@) only but not (i2), (iii) and (iv)
(D) (i) and (iv) but not (i) and (ii) l-

‘World System Theory’ of develop-
ment explains the relationships
between the ‘developed’ and
‘developing’ countries. Who among
the following gave ‘World System

Theory’ of development ?
(A) Gunnar Myrdal

(B) I. Wallerstein

(C) M.K. Gandhi

(D) A. Sen
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22.

23.

Whe among the following is
associated with Human Develop-
ment Index (HDI) for measuring the
level of development among various

countries ?

(A) Raymond Firth
(B) Mahbub-ul-Haque
(C) M.N. Srinivas

(D) A.R. Desai

[

India recognized the population

problem and adopted an official
national programme in family
planning in :

(A) 1950
(B) 1952

(C) 1955

(D) 1975

TBC : AKG-AP(CC)SOC.-2018

24.

25.

26.

E. Sutherland founded the theory
of :

(A) Blue Collar Crime
(B) Crime by Dacoits
(C) White Collar Crime
(D) Cyber Crime

All countries pass through various
stages of demographic transition.
Which one of the following is not

such a stage ?

(A) High birth rate

(B) Decline in death rate

(C) Low steady death and birth rate
(D) Optimum stage

Who introduced the concept/term

‘post-industrial society’ ?
(A) J. Burnham

(B) G.K. Galbraith

(C) Daniel Bell

(D) R. Dahrendorf
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27. Which group of the feminists accept

28.

the view that ‘State is a system of
structures' and institutions created

by man in order to recreate

‘male domination and female

subordination’ '?

(A) Liberal Feminists
(B) Radical Feminists
(C) Marxist Feminists ‘

(D) Eco Feminists

The term ‘Sociological Imagination’

was coined by whom ?
(A) Peter Berger

(B) C.W. Mills

(C) A. Giddens

(D) J.S. Mill

TBC : AKG-AP(CC)SOC.-2018
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29. Stages of cognitive development

30.

i,

related socialization was proposed
by :

(A) H. 'NlIead

(B) S. Freud

(C) C.H. Cooley

(D) J. Piaget

Sociological perspective is primarily

related to an attempt to :

(A) change th(; social order

(B) understand the social order
(C) reform the social order

(D) adjust to the social order

Resocialization is clearly evident

when a :
(A) girl’s marriage just takes place

(B) child is born

(C)

person works as a member of a

revolutionary party

(D) child starts going to school
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32.

33.

34.

Which one of the following is known
as the process by which cultural
traits spread from one culturally

distinct group to another ?

(A) Evolution

(B) Assimilation

(C) Accommodation

(D) Diffusion

Sanskritization Implies :

(A) Change in Caste Structure
(B) Change of Caste Structure
(C) Change for Caste Structure

(D) None of the above

The prohibition of ‘Sagotra’ marriage.

among the Hindus is an example of

marriage :

(A) Taboo

(B) Clan exogamy

(C) The rules of caste endogamy

(D) The incest taboo

TBC : AKG-AP(CC)SOC.-2018
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35.

36.

37.

The Weberian model of social
stratification has been used in the

study of caste by :
(A) S.C. Dube

(B) M.N. Srinivas
(C) T.N. Madan
(D) Andre Beteille

Mead has talked about four stages

of actions. There are : Impulse,

perception, ma_nipulation amd i ;
(A) Consummation

(B) Gestures

(C) Consciousness

(D) Symbols

Symbolic Interactionism gives

emphasis to :

(A) Action depends on meanings
(B) Meanings get changed

(C) People assign meaning

(D) The macro perspective
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38.

39.

40.

-Who has talked about the

‘decomposition of labour’ ?
(A) Karl Marx

(B) G. Simmel

(C) L. Coser

(D) R. Dahrendorf

According to Karl.Marx, which one
of the following is not a dimension

of alienation ?

(A) Alienation from Production
(B) Alienation from Liabour
O Aliessation frem: Hakum

(D) Alienation from Self

The book on “The Phenomenology

of the Social World” is written by :

(A) Edmund Husserl
(B) Max Weber
(C) Karl Manheim

(D) Alfred Schultz

TBC : AKG-AP(CC)SOC.-2018
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42.

.......... serrresnenneeen.. have explained the
duplicity of peoplé’s socially
constructed reality.

(A) Peter Berger and Thomas

Luckman
(B) Karl Marx and Max Weber
(C) Karl

Manheim an_d E.

Durkheim
(D) E. Husserl and Alfred Schultz

............................. is the field of inquiry
that seeks to understand the
methods people employ to make

sense out of their world.
(A) Symbolic Interactionism
(B) Phenomenqlogy

(C) Ethnomethodology

(D) Dialectical method
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43.

44.

45.

Name the sociologist who suggested
that human behaviour is regulated

by means of “Surveillance” :
(A) M. Foucaul-t

(B) T. Parsons

(C) J. Defrida

(D) A. Giddens

Who has developed the concept of

‘Structuration’ ?

(A) Jacques Derrida
(B) Pierre Bourdieu
(C) Anthony Giddens
(D) Maurice Godelier

‘Text is important for understanding

the reality’, who said this ?
(A) Pierre Bourdieu
(B) Jacques Derrida

(C) Anthony Giddens

. (D) Michel Foucault

TBC : AKG-AP(CC)SOC.-2018
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46.

47.

48.

Pluralistic society shares the

- characteristics of :

(A) Capitalistic society

(B) Post-modernistic society
(C) Industrial society

(D) Post-industrial society

To Anthony Giddens structuration

‘theorizing involves :

(A) Single hermeneutic
(B) Double hermeneutic
(C) Dialéctical hermeneutic
(D) Historical hermeneutic

Which of the following methods used
by H. Garfinkel in his exposition of
ethnomethodology ?

(1) The Documentary method

(i1) The Breaching experiments
(zzz) The Reciprocity of Perspectives
(iv) The Et cetera principle |

Select the correct answer from the
codes given below :

Codes :

(A) (), (&) and (Gid)
(B) (i), (i) and (iv)
(C) (@), (i) and (iv)
(D) @), (i), (GEi) and (v)
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49. Who

50.

among the following
distinguishes three components of
the ‘life world® — culture, society

and personality ?
(A) A. Schultz
(B) E. Husserl
(C) P. Berger

(D) J. Habermas

Giddens concept of regionalization

implies that :

(A) the reproduction of relations not

only across time but also s.pace
(B) the process of social change is
limited by regions

(C) a regional society starts

influencing other societies

(D) the mainstream society acquires

the features of regional societies

TBC : AKG-AP(CC)SOC.-2018
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51.

52.

Who among the following theorists

sees contemporary society as a death
culture, with death being the

‘paradigm’ of all social exclusion and

‘diserimination ?

(A) J. Baudrillard
(B) U. Beck

(C) M. Foucault
(D) J.F. Lyotard

Who has considered that ‘most often
action is routine and relatively

unreflexive’ ?

(A) Alfred Schultz
(B) H. Garfinkel
(C) Max Weber

(D) John Heritage
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(A) . EITE’ﬁFﬂE‘

(B) 4. o=

© . @

(D) @rqqa forarere

feem 771 % ‘= wm: W= ek

aifes smufaea B9 & 2

(A) ThE S

(B) TH. Tfhee

- (C) He AR

D) S s

P.T.0.



53.

o54.

TBC : AKG-AP(CC)SOC.-2018

_Who has observed a link between
the structures of the mind and the

structures of society ?
(A) Charles Lemert

(B) Radcliffe Brown

(C) Levi-Strauss

(D) Michel Foucault

Who has criticized the economic
determinism to be implicit in parts

of Marx’s original work ?

(A) J. Habermas

(B) T. Bottomore

(C) J. Morrow

(D) L. Althusser

22

55.

56.

According to post-modernist which
ideas of modernity are considered

gone by or dead ?

(A) Reason, rationality and
progress
- (B) Rationality, progress and
objectivity
(C) Legality, rationality gnd

objectivity

(D) Objectivity, rationality and

reason

The role of statistical methods in
the study of sociology is to increase

the :

(A) Objectivity
(B) Sophistication
(C)" Subjectivity

(D) None of the above



5?3. afegss &1 GRS 9o g9 i
TEAIR $ &F &1 9=y fHwaa gg=m

T ?

(A) =ed oS

(B) Tefs 94
(C) w&E-wE

(D) e &=

54, e W um Fh S s § siafife

aifedsr fag=rgere =t enea feea &1

T 2
(A) S ™
(B) . SEER

(C) 3. =

(D) WA AR

TBC : AKG-AP(CC)SOC.-2018
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55.

56.

T INYfrRarEiedi & SUR nyfha
# w9 foer 9@ (ga) T 9™
g ?

(A) T, THYTGAl 99 Ifd

(B) dehdTedr, W qu SeqiTeedl
(C) Ayar, TehdTadl qul SRS
D) aﬁﬁw;aﬁiﬂmamaaf

TSI & HAeggd § wifegsig

........................

(A) SIS
(B) uftsshaan
(C) =afeafasaar

(D) s # § FE T

P.T.O.



57.

58.

59.

Collecting Information for

knowledge’s sake is termed as :
(A) Applied Re-search

{(B) Pure Research

(C) Empirical Research

(D) Valid Research

The Reliability of data is not
associated with :

(A) Test-retest reliability

(B) Internal-consistency reliability
(C) Split—h-alf reliability

(D) Content-level reliability

Who

developed experimental

research in sociology ?
(A) E. Durkheim

(B) J.S. Mill

(C) E. Bogardus

(D) G. Lundberg

TBC : AKG-AP(CC)S0OC.-2018
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60. What is not true of Diagnostic

61.

62.

Research Design -4

(A) to investigate fact

(B) to engine about fact

(C) to formulate theory

(D) to seek solution of problem

Which of the following is associated

with Descriptive Design ?

(A) Analysis of Demographic Trends

(B) Impact Assessment of
development intervention

(C) Causal explanation of violence
against women

(D) Cross-cultural study

In which of the following types
of research, hypothesis is a pre-

requisite ? -

(A) Biographical study
(B) Experiméntal stqdy
(C) Interpretative research

(D) Critical research



4

57, W= wH Wit & fow gEe it

58.

59.

TBC : AKG-AP(CC)SOC.-2018

................................

(D) a9 Ty

siterel =1 Tagaaaa =1 g9y = |
J fraq & ® 2

(A) Tderor-grddem faveaaam
(B) oTaftem-gaa faverm=iam
(C) feafreg-amtt favawiga
(D) Jad-TR favawaa

frafafea § @ foe guemst R
TAnTeHsR Y WRY e ?

(A) % gEH
(B) S.ug. fa=

(C) ¥ <rmed
(D) . g

60. Taemas Ty sfyeey & fag == 3fea

61.

62.

25

&R ?

(A) 9= =1 WS

(B) a=i &I SR

(C) fagr= wfaufem =
(D) T9EN & GHEE gl

faaruegs  Sifyehey & HIYM HIFAET
gty & ?

(A) Hifwera ggfadl =1 faversm
(B) fasrma T=a8a & Y 1 YA
(C) Tt & fars B &1 FROHS

AT
(D) IAI-GrFfds T

Wiy & Frefafes worl § @ fead
ufiereql ®1 gaiien ¥ ?

(A) SEa-Trerel Teaaq
(B) YA AT
() Trd=g s1emaw

(D) ATATEATHE eI
~PTE),



63. Which type of sampling method is

64.

ideally suited, where there is no

knowledge about population ?
(A) Convenient sampling method
(B) Purposive sampling method
(C) Quota sampling method

(D) Snowball sampling method

Calculation of number ,of deaths
per thousand people falls under the

measure of :

(A) Nominal Scale
(B) _Ordinal Scale
(C) Ratio Scale

(D) Interval Scale

TBC : AKG-AP(CC)SOC.-2018

26

65.

66.

When a particular technique

applied repeatedly to the same object

producing the same result each time, |

it is said to have :

(A‘)I IValidity

(B) Reliability

(C) Probability

(D) Subjectivity

Who has initiated the work on the

total communities of India namely

“People of India; Project” ?
(A) N.K. Bose

(B) K.S. Singh

(C) Yogendra Singh

(D) M.N. Srinivas

Y



63. SEEHIHE & GR H HIE TEE T BH

64.

T HY THR H Gfa=aT ugfa =
Y | ITgH ¥ 7

(A) gfaursrs wfraa T

(B) Higyd wfea=dd dsfa

(C) fraamw wfoess asfa

(D) were wfaea asfd

Tfa e9IR Ao gog it W& & qieher

. fFg A9 & ol gedl § 2

(A) e Tore

(B) ®ugEs® IHMA

(C) Iqura Tmmm

(D) FaUa Y=

TBC : AKG-AP(CC)SOC.-2018
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65. N9 TH & A% W TH foR¥Iv qhrtn

66.

] SRR YPE & T TE & 9o

frrera %, @ 39 F@ ST ¥ T
(A) duam

(B) fogersgan

(C) Huiferaar

(D) =fFauTanal
W%Wwﬁmm,w
'*ﬁgaaqu?émmﬁaz"aﬁm—aa
e Hi ?-

(A) TIFH. 9

(B) #.ud. fHg

(C) 4= fae

(D) TH.TA. sifFErg

PICAO



67. Who is of the opinion that the notion 69. Which are the works of G.S. Ghurye ?

of fundamental opposition between (I) Tribal Heritage of India

the pure and the impure is the hall- (I1) Cities and Civilization

mark of the caste system ? (III) Culture and Society

(A) M.N. Srinivas (IV) Indian Sadhus

(B) Louis Dumont Select the correct answers from the

codes given below :
(C) Surjit Sinha |
Codes :
(D) B.R. Ambedkar
(A) IV only
68. Who has stated that in India,
’ (B) 1, III, IV

direction of change is represented in

: (C) I, i, IV
a linear evolutionary form from
_ (D) I, II, III and IV
‘traditionalization’ towards

70. The concept of ‘Symmetrical Family’
‘modernization’ ?
has been propounded by :

(A) M.N. Srinivas
- (A) M. Young and P. Willmott

(B) S.C. Dube (B) Oalley
(C) Milton Singer | (C) Bauman and Smart
(D) Yogendra Singh (D) Smart

TBC : AKG-AP(CC)SOC.-2018 28



67. %mnﬁ%ﬁag@amm%

68.

g gayd ol i 9Ron Sfa 9e1 =61

yrfors o & 2
(A) TR HifEmE
(B) qﬁaq&gﬁr
(C) Yesita fa=n

(D) 1.3R. TESH

Ig fege woq ® 5 ura H°, aiadq
1 e o SR & TR
&1 3R s gfawria @wy § wfyd

B % ?

(A) T HifraE
(B) T9.4l. gd

(C) fraeea faR

D) ais fos

TBC : AKG-AP(CC)SOC.-2018
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69.

70.

Stug. i & Fiel sEdE § 2
I) rEsa RS 9w sfean

an e wwe fafaemsseE

(III) He=R TS HEEd

aV) sfea wyE

T2 o3 T F2 # | W& TW H wIH
HIfsA -

wHE

(A) @wEd IV

(B) I, III, IV

(C) II, III, IV

D) I, II, I 3R IV

‘gufaga ofEr’ =t s|uren g
gfqurfea =t ot ?

(A) TH. I @1 qt. faemte
(B) 3M&d
(C) €9 991 W

D) T

P,



1.

72.

73.

TBC : AKG-AP(CC)SOC.-2018

Provision for divorce among Hindus
are provided under Hindu Marriage
Act of which year ?

(A) 1955

(B) 1956

(C) 1961

(D) 1973

The Dowry Prohibition (Amendment)
Act was passed in which of the

following years ?
(A) 1963
(B) 1965
(C) 1984
(D) 1961

Who among the following are
associated with Indianisation of

Sociology ?

(A) G.S. Ghurye, A.K. Saran, D.P.
Mukherjee

(B) G.S. Ghurye, T.K. Oommen,
A K. Saran

(C) G.S. Ghurye, A.R. Desai, D.P.

Mukherjee

(D) G.S. Ghurye, T.K. Oommen,
A.R. Desai

30

74.

75.

76.

&
What was the chapter about women
which appeared in the Sixth Five

Year Plan ?

(A) Women and Welfare

(B) Women and Development
(C) Women and Education
(D) Women and Health

Kate Millet and Mary Daly are

related with .......................... theory of

Gender Relations.

(A) Liberal

(B) Radical

(C) Socialist

(D) Post-modernist

model  of

Amartya Sen’s

development is :

(A) Swadeshi Model

(B) Mixed Model

(C) Social Capability Model

(D) Sarvodaya Model



71.

72.

73.

e = & fog Torame sfetem & sr=ria
fegell =1 gome & WEYH WM fRd
™ ?

(A) 1955

(B) 1956

(C) 1961

(D) 1973

2w Foy (FeeA) efufem A 8 4 |

A9 T4 H wia gen ?
(A) 1963
(B) 1965
(C) 1984
(D) 1961

frafafea § @ 9 IUSRTSE &
RAEHU B Gy gEied § 2

(A) w9, T ', S g
(B) ww. g, AP, T, TH. WA
(C) Shug. g4, Tam. 3WE, St gehsit
(D) . i, . 9, TR SHE

TBC : AKG-AP(CC)SOC.-2018
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75.

76.

vt 2 e A i

S e YR fRar En o1 9g R’

ar 2
(A)w%mﬁamwm
(B) wfeemd qen fasmm

(C) wfgemd e foren

(D) wfgemd qen @mees

ey & fogm @ et g

fem

(A) SERAET

(B) SUaEl

(C) THTSEmRl

(D) SW-3nyferamt

s T w1 o w1 Afsd ¥ :
(A) TR Afea

(B) Twisa #Afsa

(C)_amﬁaa arHal Hisd

(D) wEigd Hled

P.T.O.



4

77. Samir Amin talks about : 80. Great tradition and little tradition

(A) Centre-Periphery are related with :

(B) Open-Close Societies (A) Mckim Marriott

(C) Centre-West (B) Robert Redfield

(D) Tmsteesﬁip _ (C) M.N. Srinivas
78. Who has named ‘Juggernaut’ to (D) S.C. Dube

describe an advance stage of . . ) _
81. Which article of Indian Constitution

modernity ? ;
abolished untouchability ?

(A) Michael Foucault

(A) Art. 14
(B) Anthony Giddens

(B) Art. 23
(C) Max Weber |

(C) Art. 17
(D) David Frisby

(D) Art. 27

79. Which one of the following is not an

indicator of cultural diversity in 82. When was Delhi High Court

established ?

India ?

(A) Race (A) 1949
(B) Caste (B) 1950
(C) Class (C) 1962
(D) Religion (D) 1966

TBC : AKG-AP(CC)SOC.-2018 32



78.

79.

.........................

(D) =arfaan

g sMyfTehar st 3=1d LA 1 90
HE & fau ‘sEe’ = oI famn ?

(A) HiEshdl Fehl
(B) Taft fre=
(C) = IR

D) =fas fraR

frfafaa 3 9 9599 9RG § 9 ias
fafaear =1 gus & § 2

(A) gsifa
(B) <fa
(C) =t

D) ud

TBC : AKG-AP(CC)SOC.-2018
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80.

81.

82.

-----------------

Feg WA qdT AY TER

¥ deifea ¥

(A) #fFn Aftee

(B) T° THIcS

(C) TH.TH. sifam

(D) TH.H. gA

ada d@fgum & feg sgese A
‘STeqvEar’ ®i AR % O ¥ 7
(A) T=R 14

(B) 3T=R 23

(C) =% 17

D) =R 27

-ﬁc_vﬁdvq I Skl €9 R 9

% 2
(A) 1949
(B) 1950
(C) 1962

D) 1966

P.T.O.



83.

84.

85.

When was Shimla Conference
held ?

(A) 1943

(B) 1944

(C) 1945

(D) 1946

The Volcanic Island “Barren Island”

is located in :
(A) ‘Australia
(B) Germany
(C) Fizi
(D) India

Which one of the following is the
official Mascot for 2018 FIFA
World Cup ?

(A) Bailey
(B) Ganesh
(C) Zabivaka

(D) Elephant

TBC : AKG-AP(CC)SOC.-2018

86.

87.

34

The Rotterdam convention deals

with :

(A) Limiting the use of toxic

chemicals

(B) Mutual agreement on subsidy

to agriculture

(C) Reducing arms race

(D) Antarctica Environment Pact

What is the correct sequence of
the Prime Ministers of India

(1977-1989) ?

(A) Morarji Desai, Indira Gandhi,

Charan Singh, Rajiv Gandhi

(B) Indira Gandhi, Charan Singh,

Rajiv Gandhi, Morarji Desai

(C) Charan Singh, Morarji Desai,

Rajiv Gandhi, indira Gandhi

(D) Morarji Desai, Charan Singh,

Indira Gandhi, Rajiv Gandhi



83.

84.

85.

formen w99 g 2
(A) 1943
(B) 1944
(C) 1945
(D) 1946

“I ageie” SaTeTgE g wEl W g
% 2

(A) e
(B) SHAt
(C) Twsi

(D) ¥Ra

2018 FIFA fagasg & fau anfysmifis

g Frefafea § @ wFar § 2
(A) 9

(B) T

(C) hferareh

(D) wedt

TBC: AKG-AP(CC)SOC.-2018
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86.

87.

ASH IHeH &1 &9 389 o ?

(A) STedd Sigwa ueredl & Tae W
BED

(B) ¥ & IgeM W 3w Wedfd
(C) Tl =t <ig =+ gufd
(D) sterfies wateRer angiar

UG % UUH Af=E w1 %A STHER

(1977-1989) %4 =41 41 ?

(A) AR 34w, 3=y e, =X fog,
TSE T |

(B) sf=w T, ==wr fog, Tsig i,
RS 3R

(C) =¥ur fHg, AR I9E, USia
Teft, sfgRr et

(D) WIS 29, wu fog, 31“?{1
i}, TS et

P.T.O.



88.

89.

90.

Which is the largest country (area)

in the world ?

(A) US.A.

(B) Russia

(C) Canada

(D) China

When was Richter Scale developed ?
(A) 1902

(B) 1919

(C) 1928

D) 1935

What is the capital of Venezuela ?
(A) Caracas

(B) Vila

(C) Monte Video

(D) Agana

TBC : AKG-AP(CC)SOC.-2018
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91.

92.

93.

&
N
The estimated capacity of Sawra

Kuddu Hydropower Project will be :
(A) 111 MW
(ﬁ) 65 MW
(C) 165 MW
(D) 48 MW

When was Doodh Ganga Scheme

launched in Himachal Pradesh ?
(A) 2006
(B) 2009
(C) 2012
(D) 2013

Which of the following wildlife
sanctuary has lowest area in square

kilometres ?
(A) Khokhan
(B) Shilli
(C) Talra

(D) Kais



88. WA % FTER Tava w1 @@ e 2y | 91. WAN /g 5 fogga i +1 e

FH T ? gl Br
(A) T T SR (A) 111 FER
(B) 65 TER
(B) &4
(C) 165 HTMER
(C) hA=T
(D) 48 WETE
D) =
| 92. fewrae weT # qY T AN HA LE
89. el =e =1 =d QT ™™ ? = 2
(A) 1902 (A) 2006
(B) 1919 (B) 2009
(C) 1928 (C) 2012
D) 1935 (D) 2013

93. Frafafem stwERea %1 Sed W
90. JIS[EET HI I ©

B % b
(A) SUFHH

(A) sHrEm
(B} it : (B) fereeit
(C) Hr= fafead (C) T
(D) 3T (D) &4

TBC : AKG-AP(CC)SOC.-2018 37 P.T.O.



94. What game did Alfred Mosher Butt

95.

96.

invent ?

(A) Scrabble
(B) Snooker
(C) Badminton
(D) Karate

The first novel written by Salman

Rushdie was :

(A) Grimus

(B) Midnight’s children
(C) The Satanic Verses
(D) The Circle of Reason

Which Viceroy had inaugurated
the present Himachal Pradesh

Legislative building in.1925 ?
(A) Lord Reading

(B) Lord Irwin

(C) Lord Willington

(D) Lord Linlithgow

TBC : AKG-AP(CC)SOC.-2018
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97.

98.

99.

100.

The Luni river is a small tributary

of river :
(A) Satlyj
(B) Yamuna
(C) Ravi
(D) Beas

Who is the chairperson of the
Himachal Pradesh State Commission

for Women ?

(A) Indu Goswami
(B) Daisy Thakur
(C) Sarojini Thakur
(D) Bimla Kashyap

Which of the lakes is situated at the
highest altitude ?

(A) Prashar lake

(B) Saruvalsar lake

(C) Nako lake

(D) Suraj Tal

Kanam Monastery is in district :-
(A) Lahaul-Spiti

(B) Kangra

(C) Kinnaur

(D) Shimla



94.

95.

96.

TBC: AKG-AP(CC)SOC.-2018

Teshe HYR 9 3 g @9 =1 snfassR
fear 2

(A) Shad

(B) &

(C) w=fied

(D) =2

AR T 1 379 oAl Aiae S

a1 2
(A) g

B) fasme faegm
(C) T W afddg
(D) T W&a 31k fom

a9 1925 # adue fenre wew faum
| o &1 3IgeeA fhve g 3
ferar ar 2

(A) o€ RfgT
(B) ©me sfeq
(C) are fafermes
(D) @re femfeaem
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97.

98.

99.

100.

A FrEw wemw w6 ¥ 2

(A) Fags

(B) =77
(C) Tt

(D) =9

fenr=el Wy TS wfgenm omEm w7
qFY HA T ?

(A) g Tam

(B) St 3y

(C) WA 3

(D) fomen wvay
Frfafea § & sFdt sie ge S

wE ?

(A) TWRR e

(B) SFaER 3

(C) -t e

(D) ¥ qTA

“FrE M e e # R 2
(A) SrEre-wifa

(B) =TSl

(C) fF=iR

(D) femmen
P.T.O.



